C:# Vergleich mit absoluten Werten

Name:
Benutze >, < und = um zu vergleichen. Antworten
D ja4 |4
- 1.
2 7 |7l
- 2.
3 3 |28
- 3.
4 1251 49|
- 4.
5 |-94] |-49]
- 5.
6) 64 -91
- 6.
) |-60| |68 ,
8 67 55
- 8.
9 173 49
- 9.
10) 93] |-80|
- 10.
11) |180] 80
- 11.
12) 55 |64
- 12.
13) 139 |62
- 13.
14) 5 -60
- 14.
15) 27 |69
_ 15.
16) 76 3
- 16.
1) |71 60
- 17.
18) .48 33
- 18.
19) .68 |19
- 19.
200 0 -84
_ 20.
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Ch Vergleich mit absoluten Werten

Name: L Osungsschlissel
Benutze >, < und = um zu vergleichen. Antworten
D a4 > |4 L s
2 |71 > |7 s
3 3 < |28 s <
4 125 < 49| . <
5 |-94| > |49 . >
6 -64 > -01 . S
) |-60| < |-68| , <
8 67 > 55 8 >
9 173 > 49 o >
10) 93| > |-80] o >
11) |80] = 80 " -
12 55 < |64 12 <
19 139 < |62] s <
5 > 60 14, >
15 -27 < |69 - <
) 6> 3 16. >
1 |_7|160 17. <
18 48 < 33 18, <
19) -68 < |19 o <
20 > 8 20. >
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